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They only have grievances against each other

Overview

The X773 cites a Xn*12 (similar to our 7I1wn) which states that if someone hired
workers and either party rescinded, they only have grievances against each other.
mooIn explains why there is no monetary claim.

nooIN asks:
= (N,p 97 N0p N23) NP 51302 199957 N PPNRTT NN 290 ]5 NP RNT PHY 19%3249Y nvp

The "' has a difficulty; for in X»p 11377 10 we have established the ruling like

n'', who judges cases of %93
- 29990 1IN 19DAN) 115 HYY 113 Hva H1as ©1Y 11 XY INMPN )9 ON

Therefore, in the case where the 2"7v2 reneged, why should he not pay them like

an ‘idle worker’, since, on account of him, they were laid off that day, and did
not work; he caused them the loss of their wages.

Mmo0IN answers:
= 49NWNY INSNIY NIY 12 INHNYIY 2999107 9D YN

One can say; we are discussing a case where they will still be able to hire
themselves out, even after he retracted; so he caused them no loss —

Mmoo responds to an anticipated question:4
= 0 21 JY NON INSIDY XD NNYY HNDIYIN 199 YW 01PN Y9109

But nevertheless the worker has ny9pn on the 2"7v2, since now he will not find
work, only with difficulty, while before the retraction he already had work.

mooIn anticipates a difficulty:
- 5ANY N7V INNY 19979 B391NN 1997 NY 1°2 702 X590 999

! There are (generally) two levels of causing damage indirectly, one is X273 the other *»73. Of the two, 173 is a more
direct damage relative to X»n73, but less direct than damaging directly (2>72 p1°77). Regarding Xn73 the rule is Xn7a
715 P13, however regarding "7 there is a NpY?n, and (as N19OIN states), we rule like 7", who is 21 by “n7a.
2 502 Hy19 is the reduced wage a worker would be willing to accept, if he will be paid without doing any work. Here
too (according to '01n question), even though the employer caused them the loss of wages, nevertheless he need not
pay them their full wages, since they did not work, rather he should pay them v2a 5v195.
? See “Thinking it over’ # 1 & 3.
* Since they can find other work, why is there (even) n1wn?
3 In our text it reads; A2 XOWD TTW XYM 1HYID ,INRIAN IREA KYI O™A0 1597 3N,

1

TosfosInEnglish.com




PR "7 '0I10 2,0 "2 702

And when the Xn»72 shortly differentiates, between a case where the donkey
drivers did not yet go to the place of employment, when the 2"7¥2 rescinded (in
which case there is only nm17¥n, but no monetary payment), to a case where they

went and found a wet field not suitable for work (in which case he pays them 2 H¥192) -
= 9951951 NYa N DY Y81 NN

The Xn>12 could have also differentiated even in a case where %2 1277 8, and

that distinction would be (according to what '01n just taught us) -
- $99mwnY 7Y "Ixgm XYW 9NN 12 NN 13 S99nwnY Y 199199 13

Whether they can still hire themselves out after he retracted, or whether he

retracted after they cannot hire themselves out anymore; why was it necessary for

the Xn>2 to distinguish between 15977 and 15977 89, when they can make this distinction in a case
of 1297171

mooIn responds:
- 990YNY NY INYDIY N¥IY RY 195737 Y053 XNYINNT XNIIN NIN

However, the Xn»721 mentioned cases in the nature of things, for when they
went to the workplace, it is not common that they will find an opportunity

anymore to hire themselves out (for it is already later in the day) -
$99NYWNY NENY 1I¥a 791 9N MIND NaAYWI RNNDN 1997 XY ON)

And if they did not go yet to the workplace, presumably when he rescinds, he
rescinds immediately early enough that there is yet sufficient time for the worker
to find a place to hire himself out.

Summary
There is Mmvn only when there is no loss of money (W2nwn? 2°212°) however if PX

250w 2°912° they must be paid 12 %3192,

Thinking it over
1. Moo asks that if the 2"7va retracts he should have to pay the workers."' Why

% In this case there is only nu1wn.
" Others amend this to read Wy»° (instead of X¥7).
¥ In this case he pays them “va 99192,
 When we wish to distinguish between two cases, it is always preferable to make the case difference as narrow as
possible; the two cases should be discussing the same situation as much as possible. According to the Xn»12 the two
cases are more different (one is 13777 the other is 13777 X?) than by nooin (they both are 13%17). See ‘Thinking it over’ # 2.
' npoin is (seemingly) saying that the two differentiations (of the X092 and '01n) are usually basically the same; by
159171 they cannot here themselves out, and by 13771 R? they can.
' See footnote # 3.
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does not mooIn also ask in the reverse; if the 29y retract they should pay the
2"7v3, for the loss they caused him?!

2. mdon offers an alternate distinction (which presumably has an advantage over
the xn»12)."> However, granted that in moon distinction both cases are in a 1997 X9
situation (as opposed to the Xn»2 where one is 1277 and the other 1277 X?),
nevertheless by mo0In one is by 15nwia? 2°212° and the other where it is 2°913° PR
"5nwiT? (as opposed to the Xn»12a where this distinction is [seemingly] not made);
so what is the advantage of n1901n distinction over the Xn>727!

3. There is a rule that preventing someone from profiting (71777 ny°an 0% Y0an), is
not considered 173, and there is no 21°17. Seemingly the case here, where the 2"7v2
rescinds, is a case of m1°777 Ny 1n; why does N1dOIN consider it !

12 See footnote # 11.
13 See 2 p"o a5w "o [N MEp.
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